JANSWASTHYA
SAETE

(802)

Time : 2% Hours | [ Maximum Marks : 100

T : Y, H0e | [ qUrisk : 100

Instructions to the candidate :

T TR

(i) For Question Nos. 1 to 18, you have to choose any one of the four alternatives
given in the question, i.e., A, B, C or D and write the correct answer only in the
answer-book given to you.

1 9 18 S YHI o T 3R T % A, B, C a1 D foehedi § ¥ G2 I 1 & e
3 AT IW-gfeart # fora 71

(i) From Question Nos. 19 to 28, you have to choose the correct and the wrong
answers, and write in your answer-book under the head ‘Correct’ and ‘Wrong’.

Example :
Correct Wrong
(A) (B)
(D) (©)

T G 19 § 28 T 30! T AT Terd I AR AU IT-gieden § W& qe1 Terd
fider % = foramn 2, 99

gt Ted
(A) (B)
(D) (©)

(i) For Question Nos. 29 to 31 (fill in the blanks) and question numbers 32 to 38
(on matching), the answers are to be given in the answer-book.

g = 29 § 31 (foh T /) oy @@ 32 ¥ 38 (fham &) uwi & 3w
SR-gfeen § foe 71

(iv) For Question Nos. 39 to 44, the answers are to be given in the answer-book.

T TEAT 39 ¥ 44 T o I AU IW-Yfeert § fora 2
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Choose the correct answer :
el IW gHT
1. Janswasthya training teaches us
(A) to treat sick cattle

(B) to improve crop-production

(C) to improve nutrition of people

(D) to settle disputes amongst the people

STEaTER TfSTeroT &6 ufwifera okt @
(A) SHR R G 1 TeATSl AT

(B) fo-Ieqre s
(C) T T UIEU 31T AT

(D) <N o TS Toemn

2. Jaundice is spread by

(A) water (B)
(C) threadworm (D)
fifer 27 T 2

() ot @ (B)
(C) wmTR{E & (D)

3. Dengue fever is spread by

(A) housefly (B)
(C) roundworm (D)
] JER Terdr &

(A) =] HeFEl | (B)
(C) ™ & (D)
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bedbug

sand fly

eracike)
qug s 4

mosquito

louse

=3 9
T |

2x18=36



4. Defecated material spreads

(A) tuberculosis (B)
(C) pneumonia (D)
7 ¥ e el W §

(&) & (B)

(C) =gt (D)

. Sexual contact can cause

(A) pregnancy (B)
(C) chicken pox (D)
A T § B Gehal 8

(&) (B)

(C) TrfEmT T (D)

. Fatal disease which has no treatment is

(A) rabies (B)
(C) measles (D)
ST T SRt h1E gettsl e 8, B

(A)  3TeTh T (B)
(C) TH AT (D)

. A health worker is not supposed to collect

A) information on births

poliomyelitis

kala-azar

RINRIBIESIHER:]

pIATSITT

tuberculosis

allergy

T
Afecieht

chicken pox

leprosy

HicTgma
FAT

C) information on legal battles going on in the court

(
(B) information on deaths
(
(

D) information on marriages

TTE HehRd] Udl el sl

(A) T HTRH

(B) g & aR H

(C) Tohad STt heredl H TR S W@ A
(D) & & WY
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8. Disease associated with nutrition is
(A) night blindness

(C) gonorrhoea

ST AR A §2 8, °
(A) Td = e T
(C) WI=Th

9. Tetanus immunisation of a pregnant mother

A) prevents tetanus disease in mother

Tofaret wfga @ feeTa depmeo
oi ot foerg 4 @ s

Z

— e e
~— ~—

S}

gR qiER i feeT| U @ s=E §

10. Which is not a birth-control method?

A) MTP (Medical Termination of Pregnancy)

(
(B) IUD (Intrauterine Device)
(¢) Condom
(D) ‘Saheli’ oral pills
Tz g e T8 ®
A)  SfFed MUt A
B) TR § W ATt adih
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(B)
(D)

(B)
(D)

) prevents tetanus disease in child for life

= ol wt ot < forg feea T @ s 2
A R s ! W et o forg fem T @ a=ma @

total blindness

syphilis

fordt oft T fe@s 7 2
39T

) prevents tetanus disease in mother and child for life

D) prevents tetanus disease in the whole family



11. Malnutrition-related National Programme is

12.

13.

(A) vitamin A administration to children

(B) family planning and welfare programme

(C) tuberculosis control programme
(D) leprosy eradication programme
FI0T Grafea T e wrEEd

(A) =t = Tt A ferao

(B) UNaR e weisa

(C) = feuT hrishn

(D) BT IHCH BrRisH

During pregnancy
(A) continue taking alcohol

(C) continue smoking

TTTerET §
(A) e did T =Ty
(C) dvaTeg Tad A LT AT

Cockroach does not spread
(A) gastroenteritis

(C) pneumonia

forerergt & e

(A)  faEr T

(C) =gt T

802/VOC/947

(B)

(D)

(B)

(B)

(D)

(B)

(D)

continue doing heavy work

Stop all the above

9T M LA Tel R
I T9 TS T8 L 1 AT

roundworm infection

diarrhoea

Tty T
& T

[ P.T.O.



14. Temperature can be measured correctly by
(A) touching a case of fever on the forehead
(B) putting thermometer on the abdomen of a patient
(C) inserting thermometer in the anus of a patient
(D) putting a thermometer in the armpit of a patient

ATH AT ST Tl §

(A) TS % HIY W EY WA o

(B) TS % U2 W YT W ¥

(C) WS I T[aT § omiieT e @

(D) emiie 7l &l s § W o

15. Primary immunisation is given

(A) during pregnancy

(B) to newborn child under the age of three months
(C) to newborn child under the age of one year

(D) to child under the age of fifteen years

erfireh SRt femm ST @

A)  THTERRT §

(
(B) o HEN A FH A & = Bl
(C) UH Iy ¥ HH Y o o=l hl

(D) UEE | | FH Y & Tl h

16. Booster immunisation is not given for

(A) poliomyelitis (B) tuberculosis
(C) tetanus (D) pertussis

X Fepreror T fea s 2

(A) aifern I % forg (B) & T & forg
(€) f&Ta n & fau (D) =hreft @iEt & fou

802/VOC/947 8



17.

18.

Choose the ‘Correct’ and ‘Wrong’ answers :

Insect which lays eggs in garbage is
(A) mosquito

(C) housefly

iz gdT S kel Fhe F 30T A F, B

(A) H==X

(C) = ot

In filaria, blood slide is made
(A) early in the morning

(C) in the evening

HIgARAT B T 1 I IS I @
(A) goe TR
(C) 3w =

& AT T I GARL Ay

(B)
(D)

(B)

(D)

(B)
(D)

(B)

(D)

19. Condom as a contraceptive device prevents

20.

(A) pregnancy
(C) syphilis

v MY e S 2
A) TS
(C) 3w ¥

(B)
(D)

(B)
(D)

louse

tick
T
oy

in the afternoon

at night

U T
Tqd i

AIDS

gonorrhoea

TgH o
Gistres |

Oral pills as contraceptive can be used through

(A) mouth

(C) nose

THfRrege MicEt TR 8t &
(A) d&H

(C) =

802/VOC/947

(B)
(D)

(B)
(D)

anus

injection

T H
EAE k|

2x10=20

[ P.T.O.



21. Aedes mosquito lays eggs in

(A) coolers (B) water-storage tanks
(C) drains (D) flowerpots

TS Hest VS T B

(A) FRH (B) U ST A o ¢k °
(C) wferat @ (D) e % THAl §

22. Health worker should send the case to the hospital if the pregnant woman has
(A) high blood pressure
(B) bleeding per vaginam
(C) single pregnancy with breach presentation

(D) None of the above
T Al i Mfed! Afgell sl STEdrel Ss1 91T, Ifg

(A) THET ST B

(B) A & T o1 & B @R

(C) wd & 37 (=) T=n &
(D) 3w | ¥ H1S T

23. The following medicines can be given for constipation

(A) Magnesium hydrochloride tablet (B) Mebendazole

(C) Bel juice (D) Ginger extract
st o foru fefafad qamear & s okt 2

(A) TR EEgHARTES et (B) TareIA

(C) e ™ (D) 37eT &1 ™

802/VOC/947 10



24. Benzyl benzoate is given in

(A) eczema (B) louse infestation
(C) boils (D) burn

ATt Amsiree < vt &

(A) T (T, gl (B) i = fog

(C) wig B = forg (D) S W

25. Food can be infected by
(A) putting food in refrigerator
(B) not washing hands after defecation
(C) wusing same utensil to take out water from a pitcher

(D) preparing fresh food before eating
3TTER gfod 2 "ot B

(A) *TER &l AHsRe § W o

(B) A« I % UYETd €1 A € °

(C) T & o | U % T2 H ¥ i e 9
(D) @H ¥ 98 B IR AT 3TER oA 4

26. Diseases spread by insects are

(A) rabies (B) filaria

(C) typhus (D) gastroenteritis
-t § e aret I 3

(A) 3T AT (B) hrgcita

(C) erwd (D) feEm

802/VOC/947 11
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27. Control of housefly can be done by

28.

(A) burning garbage

(B) burning defecated material

(C) composting garbage

(D) killing all the adult flies

e TRl % Frr ¥ R

(A) ST R AT T AT

(B) W STl ST =iy

(C) ST Hh Hl T¢ H SR HFIRE FAHT =MMET

(D) @t Teee ufwgal i AR <A1 =MfET

Following diseases can be treated easily

(A) Tuberculosis (B)
(C) AIDS (D)
frefetiaa T =1 sars SEr | TR S Hendr @

(A) &R (B)
(C) weH (D)

Fill in the blanks :

ﬁ?ﬁ?ﬂﬁﬁﬁw

29.

30.

31.

Diseases spread by milk are , ,

39 ¥ oM 9 T E —, ,

Sandfly spreads ——, —.
Yugrelrs ¥ e o I ——, ——.

Syphilis

Malaria

Rabies can be caused by the bite of ,

3Teteh AT , ) % e U B Tkl ¢ |

802/VOC/947 12

2x3=6



Match the following :

[ERICICAIE L

32.

33.

34.

(@)

(b)

(c)

(@)

(@

(b)

()

(@)

(@)

(b)

()

(@)

Typhoid
TH=1et gEr
Anaemia
Thleddl
AIDS

TgH

Chlorination

FATATE

Chloromycetin

FARETEEH

Cold sponges
a2 gt il ugt
X-ray

T
Hookworm
N FH

Foetus

q

Milk

34
Marasmus

@1 6 S

Pyorrhea
EIRIEel|

802/VOC/947
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(@)

(iii)

()

(@)

(iii)

()

(@)

(iii)

()

Unprotected sex

e @ Ay
Water

arl

Infected hands
HeHHA BT

Heavy menstruation

STET AT E1a

Fracture
Tl 22
Barefoot
T Ut
Typhoid
THeTel gEr
High fever
I @R

Vitamin C

faerfim C

Protein

TR

Pregnancy

uE

Vitamin D

foerfi= D

2x7=14

[ P.T.O.



35. (q)

(b)

()

(@)

36. (q)

(b)

()

(@)

37. (a)

(b)

(c)

(@)

Diphtheria
fewarfan

Pertussis

Tt W

Family record card

TR gt

Medicated loop
39S aTeft T

Epilepsy
ot

Carminative mixture

AT foee=r

Fatness

e

Artificial breathing
ITEATHIToR |iE o1

Tulsi tea
gordl 1 =

Mahayog googloo

Triangular bandage
faenrft agt

Headache
=2

802/VOC/947
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()

(@)

(iii)

()

(@)

(iii)

()

()

(%)

(iii)

()

Birth control

o feres

Asphyxia

GG TR
Health worker
AL TRl

DPT
o dto Fo

Unconsciousness

SRRt

Nutrition

qi9oy

Spoon
<HH

Abdominal pain

RCAC]

Fracture of lower arm

EEREIS Gkl

Disprin

fefem

Fever

ARSI

Arthritis
el 7 &g



38. (q)

(b)

(c)

(@)

Answer the following questions :

Menthol
eI

Bel
E|

Tetanus toxoid

oo <famize

Flash card
FAYT HTS

FfcTRad Tl 6 W 3 ¢

39. How will you treat a case of malaria?

HATET G@R o T T FH FATS Bl 7

40. As a health worker, what will you tell a patient of tuberculosis?

()

(%)

(iii)

()

Dysentery
uferm

Health education

ey faren

Chest infection

BT T HeRHT

Pregnancy

uE

Teh TATEd Hehd] B o ATd Teh &7 U o AT ohl 1 a7

4x6=24

41. What is the method of spread of ‘gonorrhoea’? How will you educate the

community to prevent this disease?

IS T 8 hetd 27 SHGYET™ ol 36 U § d=- & g e frfera san?

42. What will you tell a boy’ and a ‘girl’, who are going to get married, about
delaying first pregnancy?

Tk ISk dUT Sl [SHehl TMEl 8N dTelt 8, 3eh! Ugall 9 TH i & fou o= saman ?

802/VOC/947
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43. What is the method of breast-feeding? What are the advantages of mother’s
milk over buffalo’s milk for a newly born child?

-9 i fafe 9o g7 99 % g9 9 A %1 g9 Fasa Ry o O # wrens 27

44. How do you measure the growth and development of a child below five years?
What advice will you give for a moderately malnourished child?

qi= 9 ek o o= § TR S WO ? Uk o= forEeh! o el 3T =eft gk @ % o g,
T8 P o= % fore o weme 7

* Kk ok
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